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cos’ sin? o :
a==9 . . 71¢ 33 56"
=14 3 3 36 13 54
Y =2 ¥ 3 54 44 7
0==35 3 4 65 54 19
€ =4 $ 1 30 o0 o
Schine Gleichung

3-FatBty+dte= abyde = y(1-+a)(t+ 6)(1-4H7)(1+8)(145)

Der Inhalt des sphiirischen Pentagons ist 860° weniger Summe der Seiten.
Setzt man die Summe =— § und

(143y/ @) (- iy B) (1 iy 7)1 +iV8) (14-iVe) = At Bi
so wird:

4 = ayde.cosS
B = a8y0¢.sin 8

[4.]
Glar+By+ v+ Q@2 +Gy+v2) + G2+ 8"y y'2)?
= Awvx+-Byy+ Czz+-2ayz-t-2bxz4-2cay

A—Gat+ B+  by=o
ca+(B—G)64- ay =0
ba- ab4-(C—G)y =0
je(A—G)~beje = {h(B— @)—ac|8 = {¢(C— @) —ab}y

be ac ab
= e =% Tig—e—et e+ =0

(4—G)(B—G)(C— G)+ 2abc = 4a(A—G)+bb(B— G) - cc(C—~ @)

a(A—G)—be a{d—G)—be)?
+(b(B G)-—-ac) (e(C-G)-—ab



